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Octave

v=1_[1, 3, 6,1, 0, 4, 6];
plot(v);

v(index)

1

| 0.01253215h,  2,42373

index
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Add some color

] Figure 1 =
Octave 6
v=1_[1 3, 6, 1, 0, 4, 6],
plot(v, 'ro'), st
v(index) i
red markers: '0' 2r
i 0,0823863, &,10803

index
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Plotting part only
Two vectors: x(t) vs. y(i)

Figure 1

Octave

t = 0:2%p1/100:2%p1, o6 [
indx = 1:10
S = sin(t);
plot(t(indx),s(indx));

s(index)

indx is a vector with indexes, in this
case

indx = [1,2,3,4,5,6,7,8,9,10]

0.g oy

| 0.B04B36,  0,7E30E0

t(index)

Plotting // IALP, P. Stallinga, MIEET UAIg 2011 4/11



Parameter curves

Two vectors: x(t) vs. y(i)

Octave

0:2*p1/100:2%p1,
sin(t),
lot(t,s);

t
S
P

t and s must be of same length!

s(index)

0.5

| 4.53513. 1,181K0

t(index)
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Parameter curves

Parameter curves: x(t) vs. y(t). Lissajous.

Octave

t 0:2*p1/100:2%p1,
S sin(t);

C cos(2*(t+0.1));
plot(s, c);

c(index)

-1

| —0.0132247, 1,13480

s(index)
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Parameter plot

Double plots

Octave

t 0:2*p1/100:2%p1,

S sin(t);

C cos(t);
plOt(t,S,'r-',t,C,'b-');

s(index)
c(index)

| 1.23763, 1,1402%

t(index)
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Parameter plot

Label it

Octave

t 0:2*p1/100:2%p1,

S sin(t);

C cos(t);
plOt(t,S,'r-',t,C,'b-');
xlabel('Time');
ylabel('Height');

s(index)
c(index)

ight

He

|-1.11850,  0,883122

t(index)
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Parameter plot

Double plot

Octave

hold off;

t = 0:2%p1/100:2%p1,
S = sin(t);
plot(t,s,'r-");
hold on;

c = cos(t);
plot(t,c, 'b-");

s(index)
c(index)

ight

He

|-1.11850,  0,883122

t(index)
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z=1X,y)

Octave
[X, Y] = meshgrid(0:0.02:1,
-1:0.02:1);

Z X.*sin(2*pi*y),
mesh(X,y,z),;

NI

(1,))

-0.5

it
g R ULy g Y
el S

_11

y(i.))

|views E0,0000, 30,0000  scaley 1,00000, 1,00000
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z=1X,y)

Octave

[X, Y] = meshgrid(0:0.02:

-1:0.02:1);
Z X.*sin(2*pi*y),
mesh(x,y,z);
contour(Xx,vy,z);
contourf(x,y,z);

1,

NI

-1

] 0.z

| 1.08037, 0.437752

0.4

| 1,11051, 0,929577
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